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1. A personal computer (PC) is a ........

computer.

(A) Super

(B) Mainframe

(C) Micro

(D) Nano

2. Microcomputer hardware consists of three

basic categories of physical equipments,

they are :

(A) Keyboard, Monitor, Hard drive

(B) System unit, Input/Output, Memory

(C) System unit, Input/Output,

Secondary storage

(D) System unit, Primary storage,

Secondary Storage

3. The basic goal of computer process is to

convert data in to :

(A) Files

(B) Tables

(C) Informations

(D) Graphs

4. Choose the odd one out :

(A) Microcomputer

(B) Minicomputer

(C) Supercomputer

(D) Notebook computer

5. A Desktop computer is also known as :

(A) Palm Pilot

(B) PC

(C) Laptop

(D) Mainframe

1. ,d ilZuy dEI;wVj ¼ihlh½ ,d ----- dEI;wVj

gSA

(A) lqij

(B) esuÝse

(C) ekbØks

(D) uSuks

2. ekbØksdEI;wVj gkMZos;j esa HkkSfrd midj.kksa

dh rhu cqfu;knh Jsf.k;k¡ gksrh gSa] og gSa %

(A) dhcksMZ] ekWuhVj] gkMZ Mªkbo

(B) flLVe ;wfuV] buiqV@vkmViqV] eseksjh

(C) flLVe ;wfuV] buiqV@vkmViqV]

lsds.Mjh LVksjst

(D) flLVe ;wfuV] izkbejh LVksjst] lsds.Mjh

LVksjst

3. dEI;wVj izfØ;k dk ewy y{; MsVk dks -----

esa ifjofrZr djuk gSA

(A) Qkbyksa

(B) Vscy

(C) lwpukvksa

(D) xzkQ

4. fo"ke pqfu, %

(A) ekbØksdEI;wVj

(B) feuhdEI;wVj

(C) lqijdEI;wVj

(D) uksVcqd dEI;wVj

5. ,d MsLdVkWi dEI;wVj dks ------ds :i esa Hkh

tkuk tkrk gSA

(A) ikWe ik;yV

(B) ihlh

(C) ySiVkWi

(D) esuÝse

[P.T.O.]
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6. Errors  in computer programs are called :

(A) Foliage

(B) Mystery

(C) Bugs

(D) Spam

7. U.S.B. shows :

(A) United Serial Bus

(B) Universal Security Block

(C) Universal Serial Bus

(D) Ultra Security Block

8. RAM is placed on :

(A) Hard Disk

(B) Extension Board

(C) Motherboard

(D) USB

9. Which of the following is not a web browser?

(A) Firefox

(B) Facebook

(C) Chrome

(D) Safari

10. Most World Wide Web pages contain

commands in the......... language.

(A) NIH

(B) URL

(C) HTML

(D) IRC

6. dEI;wVj izksxzkeksa eas =qfV;ksa dks dgk tkrk gS%

(A) Qksfyt

(B) feLVªh

(C) cXl

(D) LiSe

7. ;w-,-ch- n'kkZrk gS %

(A) ;wukbVsM lhfj;y cl

(B) ;wfuolZy flD;ksfjVh CykWd

(C) ;wfuolZy lhfj;y cl

(D) vYVªk flD;ksfjVh CykWd

8. RAM dk LFkku fdlesa gksrk gS\

(A) gkMZ fMLd

(B) ,DlVsa'ku cksMZ

(C) enjcksMZ

(D) ;w-,l-ch-

9. fuEufyf[kr esa ls dkSu ,d osc czkmtj ugha

gS\

(A) Qk;jQkWDl

(B) Qslcqd

(C) Økse

(D) lQkjh

10. vf/kdka'k oYMZ okbM osc istksa esa Hkk"kk esa

-------- dek.M gksrs gSaA

(A) ,uvkbZ,p

(B) ;wvkj,y

(C) ,pVh,e,y

(D) vkbZvkjlh
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11. ICT stands for :

(A) Information and Communications

Technology

(B) Information Controlled Technology

(C) Information Capable Communication

Technology

(D) None of the above

12. Which of the following is also termed as

multimedia education?

(A) ICT supported education

(B) ICT enabled education

(C) ICT education

(D) None of the above

13. CBT stands for :

(A) Central Basic Training

(B) Computer Based Training

(C) Computer Basic Test

(D) None of the above

14. Which of the following is not included in the

four basic dimensions of ICT?

(A) Skills

(B) Infrastructure

(C) Attitude

(D) Personnel

15. Information and communication technology

includes :

(A) Online learning

(B) Learning through the use of

EDUSAT

(C) Web based learning

(D) All of the above

11. ICT  dk vFkZ gS %

(A) lwpuk vkSj lapkj izkS|ksfxdh

(B) lwpuk fu;af=r izkS|ksfxdh

(C) lwpuk l{ke lapkj rduhfd

(D) mijksDr esa ls dksbZ ugha

12. fuEufyf[ke esa ls fdls eYVhehfM;k f'k{kk Hkh

dgk tkrk gS\

(A) ICT  lefFkZr f'k{kk

(B) ICT  l{ke f'k{kk

(C) ICT  f'k{kk

(D) mijksDr esa ls dksbZ ugha

13. CBT dk vFkZ gS %

(A) dsUnzh; cqfu;knh izf'k{k.k

(B) dEI;wVj vk/kkfjr izf'k{k.k

(C) dEI;wVj csfld VsLV

(D) mijksDr esa ls dksbZ ugha

14. fuEufyf[kr esa ls dkSu vkbZ-lh-Vh- ds pkj

cqfu;knh vk;keksa esa 'kkfey ugha gS\

(A) dkS'ky

(B) vk/kkjHkwr lajpuk

(C) euksof̀Ùk

(D) dkfeZd

15. lwpuk vkSj lapkj izkS|ksfxdh esa 'kkfey gaS%

(A) vkWuykbu yfuZax

(B) EDUSAT ds mi;ksx ls lh[kuk

(C) osc vk/kkfjr f'k{kk

(D) mijksDr lHkh

[P.T.O.]
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16. fuEufyf[kr esa ls dkSu ,d lks'ky usVodZ gS\

(A) fV~oVj

(B) vestu MkWV dkWe

(C) th esy MkWV dkWe

(D) b cs

17. fuEufyf[kr esa ls dkSu ,d vkmViqV fMokbl

ugha gS \

(A) ekWuhVj

(B) fizUVj

(C) nksuksa (A) vkSj (B)

(D) dhcksMZ

18. ALU dk vFkZ gS %

(A) vesfjdu ykWftd ;wfuV

(B) vYVjusV yksdy ;wfuV

(C) vfjFkesfVd ykWftd ;wfuV

(D) vYVjusfVax ykWftd ;wfuV

19. fuEufyf[kr esa ls dkSu ,d izksxzkfeax ySaXost

ugha gS \

(A) ikLdy

(B) ekbØkslkW¶V vkWfQl

(C) tkok

(D) lh$$

20. lh-Mh- dk iw.kZ izk:i gS %

(A) dkWEisDV fMLd

(B) dusDV fMLd

(C) dEIyhV fMLd

(D) buesa ls dksbZ ugha

16. Which of the following is a Social Network?

(A) Twitter

(B) Amazon.com

(C) Gmail.com

(D) E Bay

17. Which of the following is not an output

device?

(A) Monitor

(B) Printer

(C) Both (A) and (B)

(D) Keyboard

18. ALU stands for :

(A) American Logic Unit

(B) Alternate Local Unit

(C) Arithmetic Logic Unit

(D) Alternating Logic Unit

19. Which of the following is not a programming

language ?

(A) Pascal

(B) Microsoft Office

(C) Java

(D) C++

20. Full form of CD is :

(A) Compact Disc

(B) Connect Disc

(C) Complete Disc

(D) None of these
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21. Which of the followng is not a search engine?

(A) Google

(B) Yahoo

(C) Baidu

(D) Wolfram Alpha

22. Which is the extension of saved file in MS

Excel?

(A) .XLS

(B) .XKS

(C) .XOS

(D) .XBS

23. Excel documents are stored as fi les

called:

(A) Work groups

(B) Work table

(C) Work sheet

(D) Work force

24. URL stands for :

(A) Uniform Resource Locator

(B) Uniform Resource Library

(C) United Resource Locator

(D) Uniform Read Library

25. Which of the following terms is not related

to Internet ?

(A) Link

(B) Function Key

(C) Browser

(D) Search Engine

21. fuEu esa ls dkSu&lk lpZ batu ugha gS\

(A) xwxy

(B) ;kgw

(C) ck;Mw

(D) oksyÝse vYQk

22. ,Dlsy esa lso dh xbZ Qkby dk ,DlVsa'ku

D;k gksrk gS\

(A) .XLS

(B) .XKS

(C) .XOS

(D) .XBS

23. ,Dlsy nLrkostksa dks Qkbyksa ds :i esa laxzfgr

fd;k tkrk gS] ftls dgk tkrk gS %

(A) odZ xzqi

(B) odZ Vscy

(C) odZ 'khV

(D) odZ QkslZ

24. ;w-vkj-,y- dk vFkZ gS %

(A) ;wfuQkeZ fjlkslZ yksdsVj

(B) ;wfuQkeZ fjlkslZ ykbczsjh

(C) ;wukbVsM fjlkslZ yksdsVj

(D) ;wfuQkeZ jhM ykbczsjh

25. fuEufyf[kr esa ls dkSu&lk 'kCn baVjusV ls

lEcfU/kr ugha gS\

(A) fyad

(B) QaD'ku dqath

(C) czkmtj

(D) lpZ batu

[P.T.O.]
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26. A Computer consists of :

(A) A central processing unit

(B) A memory

(C) Input and output unit

(D) All of the above

27. A typical modern computer uses :

(A) LSI chips

(B) Vacuum tubes

(C) Valves

(D) All of the above

28. Which of the following statements is correct?

(A) Virus improves the speed of

processing information through the

computer

(B) The Internet does not allow a virus

to spread

(C) Virus is a part of software

(D) Virus is an operating system

29. Group of instructions that directs the

functioning of a computer is called :

(A) Storage (B) Memory

(C) Program (D) Byte

30. In analogue computer :

(A) Input is first converted to digital form

(B) Input is never converted to digital

form

(C) Output is displayed in digital form

(D) All of the above

26. ,d dEI;wVj esa iz;qDr gkssrs gSa %

(A) ,d dsUnzh; izlaLdj.k bdkbZ

(B) ,d eseksjh

(C) buiqV vkSj vkmViqV ;wfuV

(D) mijksDr lHkh

27. ,d lkekU; vk/kqfud dEI;wVj mi;ksx djrk

gS %

(A) ,y-,l-vkbZ- fpIl

(B) oSD;we V~;wCl

(C) okYol

(D) mijksDr lHkh

28. fuEufyf[kr esa ls dkSu&lk dFku lgh gS\

(A) ok;jl dEI;wVj ds ek/;e ls lwpuk

izlaLdj.k dh xfr esa lq/kkj djrk gS

(B) baVjusV ok;jl dks QSyus ugha nsrk gS

(C) ok;jl lk¶Vos;j dk fgLlk gS

(D) ok;jl ,d vkWijsfVax flLVe gS

29. dEI;wVj ds dkedkt dks funsZf'kr djus ds

fy;s funsZ'kksa ds lewg dks dgk tkrk gS %

(A) Hk.Mkj.k (B) eseksjh

(C) izksxzke (D) ckbV

30. ,ukykWx dEI;wVj esa %

(A) buiqV dks igys fMftVy :i esa

ifjofrZr fd;k tkrk gS

(B) buiqV dks dHkh Hkh fMftVy :i esa

ifjofrZr ugha fd;k tkrk gS

(C) vkmViqV dks fMftVy :i esa iznf'kZr

fd;k tkrk gS

(D) mijksDr lHkh
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31. ........ are often delivered to PC through an

E-mail attachment and are often designed

to do harm.

(A) Viruses

(B) Spam

(C) Portal

(D) E-mail messages

32. Which of the following is largest unit of

storage ?

(A) KB

(B) GB

(C) MB

(D) TB

33. Which of the following peripheral devices

display information to a user?

(A) Monitor

(B) Keyboard

(C) Secondary storage devices

(D) Secondary storage media

34. The term one Gigabyte refers to :

(A) 1024 Petabytes

(B) 1024 Megabytes

(C) 1024 Kilobites

(D) 1024 Bytes

35. How many ways are there to enhance

learning of ICT ?

(A) 1

(B) 4

(C) 3

(D) 2

31. D;k vDlj ,d bZ&esy vVSpesaV ds ek/;e ls

ihlh dks fMyhoj fd;k tkrk gS vkSj vDlj

uqDlku djus ds fy;s fMtkbu fd;k tkrk gS\

(A) ok;jl

(B) LiSe

(C) iksVZy

(D) bZesy lans'k

32. fuEufyf[kr esa ls dkSu&lh Hk.Mkj.k dh lcls

cM+h bdkbZ gS \

(A) dsch

(B) thch

(C) ,ech

(D) Vhch

33. fuEufyf[kr esa ls dkSu&lk ifj/kh; midj.k

mi;ksxdrkZ dks lwpuk iznf'kZr djrk gS\

(A) ekWuhVj

(B) dhcksMZ

(C) lsds.Mjh LVksjst fMokblst

(D) lsds.Mjh LVksjst ehfM;k

34. ,d xhxkckbV dk vFkZ gS %

(A) 1024 isVkckbV~l

(B) 1024 esxkckbV~l

(C) 1024 fdyksckbV~l

(D) 1024 ckbV~l

35. lh[kus dks c<+kus ds vkbZlhVh ds fdrus rjhds

gSa\

(A) 1

(B) 4

(C) 3

(D) 2

[P.T.O.]
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36. World Wide Web :

(A) Is another name of Internet

(B) World Wide Connection for

Computers

(C) A collection of World Wide

Information

(D) A collection of linked information

residing on computers connected

by the Internet

37. Each computer connected to the internet

must :

(A) be an IBM PC

(B) be internet compatible

(C) have a unique IP address

(D) have a modem connection

38. Which is the right term of presentation page?

(A) Chart

(B) Slides

(C) Clipart

(D) Image

39. .......... is a presentation program.

(A) U-torrent

(B) Mozilla Firefox

(C) MS Power Point

(D) Slide Panel

40. Which sign is used for absolute addressing

in Excel?

(A) @

(B) $

(C) g

(D) *

36. oYMZ okbM osc %

(A) baVjusV dk nwljk uke gS

(B) dEI;wVj ds fy;s fo'oO;kih dusD'ku

(C) fo'oO;kih tkudkjh dk laxzg

(D) baVjusV ls tqM+s dEI;wVjksa ij jgus

okyh fyad dh xbZ tkudkjh dk laxzg

37. baVjusV ls tqM+s izR;sd dEI;wVj dks@dk %

(A) ,d vkbch,e ihlh vo'; gksuk

pkfg,

(B) baVjusV laxr vo'; gksuk pkfg,

(C) ,d ;wuhd vkbZih irk vo'; gksuk

pkfg,

(D) ,d ekWMse dusD'ku vo'; gksuk pkfg,

38. izstsUVs'ku ist dk lgh VeZ dkSu&lk gS \

(A) pkVZ

(B) LykbM

(C) fDyivkVZ

(D) best

39. ------ ,d iztsUVs'ku izksxzke gSA

(A) ;w&VksjsUV

(B) eksftyk Qk;jQkWDl

(C) ,e,l ikojIokbaV

(D) LykbM iSuy

40. ,Dlsy esa ,ClksY;wV ,Mªsflax ds fy;s fdl

fpUg dk iz;ksx fd;k tkrk gS \

(A) @

(B) $

(C) g

(D) *
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41. Which of the following is not associated with

computer ?

(A) Bit

(B) Binary

(C) Pencil

(D) Mouse

42. Which is a volatile memory ?

(A) ROM

(B) BIOS

(C) PROM

(D) RAM

43. BIOS stands for :

(A) Basic Input Output Software

(B) Basic Input Output System

(C) Basic Input Output Standards

(D) Basic Information Output System

44. Full form of RAM is :

(A) Random Access Memory

(B) Read Access Memory

(C) Rapid Access Memory

(D) Read Ample Memory

45. IT stands for :

(A) Information Technology

(B) Integrated Technology

(C) Intelligent Technology

(D) Interesting Technology

41. fuEufyf[kr esa ls dkSu dEI;wVj ls lEcfU/kr

ugha gS\

(A) fcV

(B) ckbujh

(C) isafly

(D) ekml

42. dkSu ,d vfLFkj eseksjh gS\

(A) jkse

(B) ck;ksl

(C) izkse

(D) jSe

43. BIOS dk vFkZ gS %

(A) csfld buiqV vkmViqV lkW¶Vos;j

(B) csfld buiqV vkmViqV flLVe

(C) csfld buiqV vkmViqV LVS.MMZ~l

(D) csfld bUQkesZ'ku vkmViqV flLVe

44. RAM dk iw.kZ :i gS %

(A) jSaMe ,Dlsl eseksjh

(B) jhM ,Dlsl eseksjh

(C) jSfiM ,Dlsl eseksjh

(D) jhM ,Eiy eseksjh

45. IT dk vFkZ gS %

(A) bUQkesZ'ku VsDuksykWth

(B) baVhxzsVsM VsDuksykWth

(C) baVsyhtsUV VsDuksykWth

(D) baVªsfLVax VsDuksykWth
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46. ,d dhcksMZ esa de&ls&de gksrh gSa %

(A) 101 dqaft;k¡

(B) 91 dqaft;k¡

(C) 111 dqaft;k¡

(D) 121 dqaft;k¡

47. MsVk dks LFkkbZ :i ls LVksj djus dh izfØ;k

dks dgk tkrk gS%

(A) buiqV

(B) LVksjst

(C) vkmViqV

(D) izkslsflax

48. dEI;wVj ds tud dkSu gSa\

(A) ,ysu V~;wfjax

(B) pkYlZ cScst

(C) fleqj Øs

(D) vkWxLVk ,Mfeax

49. dEI;wVj ds ckjs eas fuEufyf[kr esa ls dkSu&lk

lR; ugha gS\

(A) dEI;wVj esa LVksjst dh {kerk ugha

gksrh gS

(B) dEI;wVj dh xfr rst gksrh gS

(C) dEI;wVj Lo;a vius fu.kZ; ugha ys

ldrk gS

(D) dEI;wVj vius vki ugha lksp ldrk

gS

50. izkbejh eseksjh dks ;g Hkh dgk tkrk gS %

(A) ek/;fed Lèfr

(B) izkFkfed Lef̀r

(C) eq[; Le`fr

(D) lgk;d Lèfr

46. A Keyboard has at least :

(A) 101 Keys

(B) 91 Keys

(C) 111 Keys

(D) 121 Keys

47. The process of permanently storing the data

is called :

(A) Input

(B) Storage

(C) Output

(D) Processing

48. Who is the father of Computer ?

(A) Alan Turing

(B) Charles Babbage

(C) Simur Cray

(D) Augusta Adaming

49. Which of the followng is not true about

Computer?

(A) Computer does not have storage

capacity

(B) The speed of computer is fast

(C) Computer can not take decision

itself

(D) Computer can not think itself

50. Primary Memory is also called :

(A) Secondary Memory

(B) Primary Memory

(C) Main Memory

(D) Auxillary Memory



1104-C/65 (  13  )

51. What does the acronym WAN stands for?

(A) Widest Area Network

(B) Wild Area Network

(C) Wide Area Networking

(D) Wide Area Network

52. FTP is an acronym for :

(A) File Transaction Protocol

(B) File Truncation Protocol

(C) File Translation Protocol

(D) File Transfer Protocol

53. Which of the following is not an Input device?

(A) Microphone

(B) Keyboard

(C) Joystick

(D) Monitor

54. Which of the following is an open source

software ?

(A) MS Word

(B) Windows

(C) Mozilla Firefox

(D) Acrobat Reader

55. Which of the following enables us to send

the same letter to different persons in MS

Word ?

(A) Mail Join

(B) Mail Copy

(C) Mail Insert

(D) Mail Merge

51. laf{kIr uke oSu ¼WAN ½ dk D;k vFkZ gS\

(A) lcls pkSM+k ,fj;k usVodZ

(B) okbYM ,fj;k usVodZ

(C) okbM ,fj;k usVofdZax

(D) okbM ,fj;k usVodZ

52. ,QVhih laf{kIr :i gS %

(A) Qkby VªkUlsD'ku izksVksdkWy dk

(B) Qkby Vªads'ku izksVksdkWy dk

(C) Qkby VªkUlys'ku izksVksdkWy dk

(D) Qkby VªkUlQj izksVksdkWy dk

53. fuEufyf[kr esa ls dkSu ,d buiqV fMokbl

ugha gS \

(A) ekbØksQksu

(B) dhcksMZ

(C) tkW;fLVd

(D) ekWfuVj

54. fuEufyf[kr esa ls dkSu ,d [kqyk lzksr lkW¶Vos;j

gS \

(A) ,e,l oMZ

(B) foaMkst

(C) eksftyk Qk;jQkWDl

(D) ,ØkscsV jhMj

55. fuEufyf[kr esa ls dkSu ,e,l oMZ esa vyx

vyx O;fDr;ksa dks ,d gh i= Hkstus eas l{ke

cukrk gS \

(A) esy Tokbu

(B) esy dkWih

(C) esy balVZ

(D) esy etZ

[P.T.O.]
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56. VIRUS is an acronym of :

(A) Vital information resource under

seize

(B) Vital information remark under size

(C) Vital information remark under seize

(D) Vital informative remark under seize

57. Some of the advantages of e-learning are :

(A) Train more independent learners in

the learning process

(B) Reaching a wider geographical area

(C) Both (A) and (B)

(D) None of the above

58. WBL stands for :

(A) Wide based Learning

(B) Web based Learning

(C) Web biased Learning

(D) Web based Listening

59. Microsoft Word is .......... software.

(A) Application

(B) Compiler

(C) System

(D) Programming

60. Which of the following is not a font style ?

(A) Bold

(B) Italic

(C) Regular

(D) Superscript

56. VIRUS dk laf{kIr :i gS %

(A) tCrh ds rgr egRoiw.kZ lwpuk lalkËku

(B) vkdkj ds rgr egRoiw.kZ lwpuk

lalkËku

(C) tCrh ds rgr egRoiw.kZ lwpuk fVIi.kh

(D) tCrh ds rgr egRoiw.kZ lwpukRed

lalk/ku

57. bZ&yfuZax ds dqN ykHk gSa %

(A) lh[kus dh izfØ;k esa vf/kd Lora=

f'k{kkfFkZ;ksa dks izf'kf{kr djuk

(B) O;kid HkkSxksfyd ra= rd igq¡puk

(C) nksuksa (A) vkSj (B)

(D) mijksDr eas ls dksbZ ugha

58. MCY;w-ch-,y- dk vFkZ gS %

(A) okbM csLM yfuZax

(B) osc csLM yfuZax

(C) osc ck;LM yfuZax

(D) osc csLM fylfuax

59. ekbØkslk¶V oMZ ----- lk¶Vos;j gSA

(A) ,Iyhds'ku

(B) ladyu

(C) iz.kkyh

(D) izksxzkfeax

60. fuEufyf[kr esa ls dkSu&lk QkWUV LVkby ugha

gS \

(A) cksYM

(B) bVSfyd

(C) jsX;qyj

(D) lqijfLØIV
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Rough Work @ jQ dk;Z



Example :

Question :

Q.1

Q.2

Q.3

4. Each question carries equal marks.
Marks will be awarded according to the
number of correct answers you have.

5. All answers are to be given on OMR
Answer Sheet only. Answers given
anywhere other than the place specified
in the answer sheet will not be
considered valid.

6. Before writing anything on the OMR
Answer Sheet, all the instructions given
in it should be read carefully.

7. After the completion of the examination,
candidates should leave the examination
hall only after providing their OMR
Answer Sheet to the invigi lator.
Candidate can carry their Question
Booklet.

8. There will be no negative marking.

9. Rough work, if any, should be done on
the blank pages provided for the purpose
in the booklet.

10. To bring and use of log-book, calculator,
pager & cellular phone in examination
hall is prohibited.

11. In case of any difference found in English
and Hindi version of the question, the
English version of the question will be
held authentic.

Impt. On opening the question booklet,
first check that all the pages of the question
booklet are printed properly. If there is any
discrepancy in the question Booklet, then
after showing it to the invigilator, get another
question Booklet of the same series.

mnkgj.k %

iz'u %

iz'u 1

iz'u 2

iz'u 3

4. izR;sd iz'u ds vad leku gSaA vkids ftrus mÙkj
lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA

5. lHkh mÙkj dsoy vks0,e0vkj0 mÙkj&i=d
(OMR Answer Sheet) ij gh fn;s tkus gSaA
mÙkj&i=d esa fu/kkZfjr LFkku ds vykok vU;=
dgha ij fn;k x;k mÙkj ekU; ugha gksxkA

6. vks0,e0vkj0 mÙkj&i=d (OMR Answer

Sheet) ij dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s
lHkh vuqns'kksa dks lko/kkuhiwoZd i<+ fy;k tk;sA

7. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd

dks viuh OMR Answer Sheet miyC/k djkus

ds ckn gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ

vius lkFk iz'u&iqfLrdk ys tk ldrs gSaA

8. fuxsfVo ekfdZax ugha gSA

9. dksbZ Hkh jQ dk;Z] iz'u&iqfLrdk esa] jQ&dk;Z ds
fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A

10. ijh{kk&d{k esa ykWx&cqd] dSYdqysVj] istj rFkk lsY;qyj
Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA

11. iz'u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus

dh n'kk esa iz'u dk vaxzsth :ikUrj.k gh ekU;

gksxkA
egRoiw.kZ% iz'uiqfLrdk [kksyus ij izFker% tk¡p dj
ns[k ysa fd iz'uiqfLrdk ds lHkh i`"B HkyhHkk¡fr Nis
gq, gS aA ;fn iz'uiqfLrdk es a dk sb Z deh gk s] rk s
d{kfujh{kd dk s fn[kkdj mlh fljht dh nwljh
iz'uiqfLrdk izkIr dj ys aA

A C D

A D

A C D

B

A C D

A D

A C D

B


